Quiz #3


Introductory Chemistry  

Name ________________________

Multiple Choice:  Choose the one alternative that best completes the statement or answers the question.

_____1)
Which of the following colors of light has the longest wavelength?




A)
blue

B)  red

C)  violet
D)  orange
E)  All have same wavelength 

_____2)
Which of the following colors of light has the highest frequency?




A) 
red

B)  green
C)  violet
D)  yellow
E)  All have same frequency.


_____3)
Which of the following wavelengths of light has the lowest frequency?




A)
440 nm
B)  650 nm
C)  470 nm
D)  540 nm
E)  All have same frequency.

_____4)
Which of the following types of electromagnetic radiation has the highest energy?




A)
ultraviolet
B)  infrared
C)  visible
D)  X-rays
E)  All have same energy.
_____5)
Which of the following types of electromagnetic radiation has the highest velocity?




A)
infrared
B)  X-rays
C)  ultraviolet

D)  visible
E)  All have same velocity.

_____6)
Which of the following wavelengths of light is in the visible region of the electromagnetic energy spectrum?




A)
550 nm
B)  250 nm
C)  850 nm

D)  all of them

E) none of them

_____7)
How many photons of light are emitted when the electron in a hydrogen atom drops from energy 




level 3 to 1?




A)
1


B)  2


C)  3


D)  4

_____8)
Which of the following produces the “atomic fingerprint” or emission spectrum of an element?




A)
excited electrons jumping to a higher energy level




B)
excited protons jumping to a higher energy level




C)
excited protons dropping to a lower energy level




D)
excited electrons dropping to a lower energy level




E) 
none of the above

_____9)
Which of the following energy level changes for an electron is most energetic?




A)
3 → 2

B)  4 → 3

C)  5 → 4

D)  2 → 1

_____10)
Which of the following energy level changes in a hydrogen atom produces a visible spectral line?




A)
5 → 2

B)  4 → 2

C)  3 → 2
D)  all of these

E)  none of these

_____11)
What type of electromagnetic radiation is emitted when an electron in a hydrogen atom drops from energy level 5 to 1?




A)
visible

B)  infrared

C)  ultraviolet

D)  gamma ray
E) X-ray

_____12)
How many energy sublevels exist within the 2nd principle energy level?




A)
1

B)  2


C)  3


D)  4

_____13)
What is the maximum number of electrons that can occupy a p energy sublevel?




A)
10

B)  6


C)  2


D)  14

_____14)
What is the maximum number of electrons that can occupy the 2nd principle energy level?




A)  8

B)  1


C)  4


D)  2

_____15)
Which electron sublevel follows the 4s sublevel according to increasing energy?




A)
4p

B)  4d

C)  5s

D)  3d

E)  3p
_____16)
What is the electron configuration for an atom of nickel?




A)
1s22s22p63s23p63d8


C)  1s22s22p63s23p64s24d8

E)  none of these



B)
1s22s22p63s23p64s23d8


D)  1s22s22p63s23p64s24p8
_____17)
Which element has the following electron configuration: 1s22s22p63s23p64s23d104p65s2?



A)
Ca

B)  Sr


C)  Rb


D)  Sn

_____18)
Which of the following orbitals has a spherical shape?




A)
4px

B)  4s


C)  4dxy
D)  all of these

E)  none of these

_____19)
What is the maximum number of electrons in a 4p orbital?




A)  6

B)  1


C)  2


D)  3

_____20)
How many orbitals are in the 4d sublevel?




A)  4

B)  1


C)  3


D) 5

_____21)
Why were noble gases absent from Mendeleev’s original periodic table of 1871?




A)
The noble gases occur only in compounds.




B)
The noble gases are unstable.




C)
The noble gases are radioactive.




D)
The noble gases had not been discovered.




E)
None of the above.

_____22)
Previous to the x-ray emission evidence of 1913, the order of the elements in the periodic table was based on which of the following?




A)
increasing isotopic mass

C)  increasing atomic number

E)  none of these




B)
increasing mass number

D)  increasing atomic mass

_____23)
Which of the following is a representative element?



A)
Br

B)  Ba

C)  B

D)  all of these

E)  none of these

_____24)
Which fourth period transition element has the highest atomic number?




A)
Kr

B)  Zn

C)  Cd

D)  Ca 

_____25)
Which of the following elements are fourth period semimetals?




A)  Po and At
B)  Sb and Te

C)  Si and Ge

D)  Ge and As

_____26)
Which of the following is an alkali metal?




A)  Mg

B)  Cu

C)  Cs  
D)  Al

_____27)
Which of the following is a halogen?




A)  Hg

B)  Br

C)  Ar

D)  H

_____28)
Which of the following is a rare earth element?




A)  Ba

B)  La

C)  Cr

D)  Th

_____29)
Which of the following elements has the most metallic character?




A)
Li

B)  Mg

C)  Na

D)  Al

E)  Be

_____30)
Which of the following elements has the largest atomic radius?




A)
B

B)  Na

C)  Mg

D)  Li

E)  Be

_____31)
Which of the following has chemical properties most similar to zinc?




A) 
Ga

B)  Al

C)  Cd

D)  Ag

E)  Cu

_____32)
Which of the following is a general trend from left to right in the periodic table of elements?




A)
atomic radius increases; metallic character decreases




B)
atomic radius decreases; metallic character increases




C)
atomic radius decreases; metallic character decreases




D)
atomic radius increases; metallic character increases




E)
none of the above

_____33)
Given the chemical formulas MgO, Al2O3, and SiO2, predict the formula for germanium oxide, Ge?O?.




A)
Ge3O2

B)  GeO
C)  Ge2O3
D)  GeO2
E)  Ge2O

_____34)
Which energy sublevel is being filled by the elements K to Ca?




A)
4d

B)  3d

C)  4s

D)  4p

E)  4f

_____35)
What is the core notation for the electron configuration of an iodine atom?




A)
[Xe]

C)  [Kr]5s24d105d6

E)  [Kr]5s24d105p5



B)
[Kr]

D)  [Kr]5s24p5
_____36)
Which element has the following electron configuration: [Ar]4s23d5?




A) 
Tc

B)  Br

C)  Kr

D)  Cl

E)  Mn

_____37)
Predict the number of valence electrons for a Group14 element.



A)
6

B)  2

C)  8

D)  14

E)  4

_____38)
Predict the number of valence electrons for a sulfur atom.




A)  32

B)  16

C)  6

D)  8

E) 4

_omit_39) 
Which of the following is the electron dot formula for an atom of oxygen?




A)


B)

C)

D)

E)

_____40)
Given the chemical formulas CH4, NH3, and H2O, predict the formula for silane, Si?H?.




A)
H2Si

B)  SiH3
C)  SiH

D)  SiH4
_____41)
Which of the following groups of elements has the lowest ionization energy?




A)
Group 17
B)  Group 1

C)  Group 2

D)  Group 12

E)  Group 18

_____42)
Which of the following elements has the highest ionization energy?




A) 
K

B)  Br

C)  Cl

D)  Kr

E)  Ar

_____43)
Which of the following groups has a predictable ionic charge of two positive?




A)
Group 12
B)  Group 18

C)  Group 16

D)  Group 6

E)  Group 2

_____44)
Which of the following groups has a predictable ionic charge of three negative?




A)
Group 13
B)  Group 3

C)  Group 18

D)  Group 15

E)  Group 5

_____45)
What is the predicted ionic charge for an Al ion?




A)
3+

B)  1+

C)  3-

D)  1-

_____46)
What is the predicted ionic charge for a Cl ion?




A)  1+

B)  7+

C)  7-

D)  1-

_____47)
Which of the following ions isoelectronic with the noble gas krypton?




A)
K1+

B)  I1-

C)  As3+
D)  Se2-
_____48)
What is the electron configuration for a magnesium ion, Mg2+?




A)
1s22s22p63s1


C)  1s22s22p63s2



B)
1s22s22p63s23p1

D)  1s22s22p6
_____49)
What is the electron configuration for a nitride ion, N3-?



A)
1s22s22p3


C)  1s22s22p4



B)
1s22s22p5


D)  1s22s22p6
_____50)
Which of the following ions is isoelectronic with the noble gas neon?




A)
Na1+

B)  F1-

C)  Mg2+

D)  Al3+

E)  all of these
